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Review for Unit 1 Test: The Basics of Statistics 

1. A survey conducted in a college intro stats class asked students about the number of credit hours they were taking that semester.  The number of credit hours for a sample of 15 students is listed below:

3, 6, 6, 6, 6, 9, 9, 9, 10, 10, 12, 12, 12, 15, 15, 28
a. Make a frequency table of this data.

b. Create a histogram of this data.


c. Find the mean and median.

d. Of the mean and median, which is a better representation of the center of the data?  Explain your answer in the context of the data.
2. Describe the shapes and/or skew of each of the four histograms below:
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3. What are two misleading traits about histograms. Please explain why each is misleading. 
4. The following list contains prices of a stock over the past week:
$2.22, $2.25, $2.26, $3.30, $4.00, $6.00
a. Find the range.

b. Find the standard deviation by hand.  

c. Which of those is better at showing how dispersed data is? Explain in DETAIL.
5. Last night on ABC News, they reported that the mean age of the population in Japan is 51, with a standard deviation of 6.  What does this mean? 

6. What do you think the mean age of students at Hudson is?  Do you think there is a large or small standard deviation of students age?  Explain.

7. A data set with 6 observations, where the mean is as close to 100 (within +/- 1.5) as possible and the standard deviation is as close to 8 (within +/- 0.5) as possible 
a. The can be no repeating numbers

b. You MUST use 6 observations
